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And you shall bequeath them to your children after you; from here
we derive that a person cannot bequeath, etc.

Overview

The Xn>92 derives from the P05 of "2 02°12% onIX an?nanm, that a father may give
over the rights of amX (the 2°1w1> 072y [which the P05 is discussing]) to his
children, but he cannot give over his rights that he has on his daughter to his
children. The children do not inherit the father’s rights to his (minor or 77¥1)
daughter. m»on explains why this 77 is necessary and we cannot derive it from
elsewhere.

nooIn asks:
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77970 2''7 from %''v27%p asked; why is it necessary to derive the rule of 278 PN

112% N2 Mot R from an®manm, when it is obvious that he cannot be 112 N3t WM
137 -
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Since from where do we derive that the handiwork of a daughter belongs to

the father; from the word 178" -
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And the master cannot even bequeath the 772R herself to his son -
- >nan NN XYY 120 DR XY DT DX DANRT (3,0 91 YAPY 79719

As we infer later from the 05 of 12 Twyn TNnRY aX), that an 72K does not serve
neither the son nor the daughter of the deceased master.

N1B0IN answers:
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" a,m3 (Am2) X

% The 77N writes (1,80 [D°vown] Nnw) that 3AK? N2 DR YR 1O7° *3%; the word XY is superfluous (it could have said

N2 DR WX 727 )1 [we would understand that he is selling her for an 7aX]); it comes to teach us that his daughter is

like an 711X, just as an 7R, her 7°7° Twyn belong to her master, the same applies to a daughter (who is not an 7X) that

her 7>7 7wyn belong to her father.

? We derive that 77 awyn of the daughter belongs to the father from 712y 7K. By 7772v7 anX the master’s rights

are not transferred to his children. Obviously the fathers rights over his daughter (which are derived from 1K)

cannot either be transferred to his children; why do we need an>minm to teach this to us.

* The word 7nx>' is utilized to teach us that even the 77> wyn of a 7w1 (who is considered a 77173), belongs to her

father. Indeed we do not need an?minm to teach us that the children do not inherit this right over their 77v1 sister,
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And one can say; this which we derive from 72X is only regarding a daughter
who is a 517 (a 7)) -
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However regarding a minor daughter, we do not derive from m2X% that her wyn»
77 belong to her father, but rather we know logically that the 77> 7wyn of a mvp

belong to her father,” for since he can sell her, etc., he surely owns her 77 mwyn,’ -
:DNYNINNY TPIVYIN 190D

So therefore we need an®mnm to teach us that even the 77 mwyn of a mwp is not
transferred to the children of her deceased father.

Summary
We derive that the 7°7° qwyn of a 771 belongs to the father, from the 105 of N2

ax2;” we know logically that 7> awwn of a 1vp belongs to her father since he can
sell her for an 7R (therefore we need the exclusion of anbminm that he cannot
bequeath the 719p to his children).

Thinking it over

1. According to m»oIn the P10 of an>minm is needed to teach us that the 7>7° nwyn
of a mwp does not belong to the heirs, but it is not necessary regarding a 7w3;®
However our X713 when it cites the exclusion of an>minm is discussing a .'i‘13]J,9 SO
why mention anomnm?!"

2. The 77 wyn of a mwp belong to the father since he can sell her.'' However the
heirs of the father cannot sell his daughter for an 7nX (the 770 writes explicitly *2
MAR? N2 DX WK 0n°) , so why do we need an?minm to teach us that the 777 qwyn
of a mwp does not belong to the heirs?'?

since it is derived from R, it cannot be ‘stronger’ than .X.
> Therefore (since it is not derived from ;%) one may have thought that the children do inherit the rights to the 7wy
77> of their minor sister (since obviously she is more under her father’s jurisdiction [for he can sell her as an nX]
than a 77v1 [whom he cannot sell]).
® It is obvious if he can sell her for an ;»X that means he has the rights to her 71°7° Twyn; otherwise how can he sell it
to someone else!
7 See footnote # 2.
8 See footnote # 4.
% The X3 states clearly 1°11°02 77 RppD17 7RI "X,
19 See X"wmn.
' See footnote # 6.
12 See ywim .
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